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< EI-21 > F EAXE MY
T =2 = 20134 20154 20204 20254 20304
ol A=l 2l 151,621 | 153,587 | 200,000 | 240,000 | 270,000
el 2l 2.6 2.6 2.5 2.4 2.3
= g St 7 57,707 59,789 80,000 | 100,000 | 117,391
THEIE % 110 110 112 114 115
= FEp k=3 63,462 65,768 89,600 | 114,000 | 135,000
s 2TE2E % 94.3 95.0 96.0 97.0 98.0
SITEE2E % 92.1 92.5 93.0 95.0 97.0
o0 HHEHE % 100.0 100.0 100.0 100.0 100.0
Mef7] & uEY E 144.7 150 190 230 260
| 7Hm 52 53 61 68 75
E3=3-ml Hm 30 29 32 35 38
o s =stm i@ 12 14 16 18 20
Ink=-iom| i@ 8 8 10 12 14
NI, cfstm @ 2 2 3 3 3
o = Ser VS 1 1 2 2 2
H o5 Eeress W 1 1 1 3 3
A VIES 4 4 8 10 12
OlZ = XA A - - 1 2 2
g X
LOISEXAM(FAH) | 7HA 2 2 3 4 5
ZOf IS XA A 7ha 2 2 4 4 5
ASAESE ch 68,805 70,000 91,000 | 109,000 | 123,000
mE=R =2 EEE % 56.1 60 70 80 90
= VIES 14 14 17 19 21
Al VIES 13 13 19 24 27
FHAIA i 2 2 2 3 3
MAAIA M - - 1 2 2
2 3| XAREEXAA i 6 6 8 9 10
2ot S Ald IHa 2 2 3 4 5
TME VI 3 3 4 5 6
u=2t 7Ha - - 1 1 1
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